MEYLE

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]
Wheel Bolt Bore @ [mm]

New applications
AUDI A4 (8H7) (04/02-03/09)

112

22

68

46,5

20

5

280

15,3
High-carbon
Vented

with screws
Zink flake coated

Brakes

New applications for existing MEYLE parts

October 2016

183 521 1017/PD

Brake disc 315521 3011
Notes
Front Axle
Bolt Hole Circle @ [mm] 120
Brake Disc Thickness [mm] 22
Centering Diameter [mm] 79
Height [mm] 51,6
Minimum thickness [mm)] 204
Number of Holes 5
Outer diameter [mm] 286
Wheel Bolt Bore @ [mm] 14,5
Vented
New applications
BMW 3 (E36) (09/90-08/00) BMW Z3 (E36/7, E36/8) (10/95-06/03)
BMW 3 (E46) (02/98-12/07) BMW Z4 (E85) (02/03--)
Wulf Gaertner Autoparts AG - www.meyle.com 1

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE v
New applications for existing MEYLE parts

October 2016
Brake disc 3155213020
Notes
Front Axle
Bolt Hole Circle @ [mm] 120
Brake Disc Thickness [mm] 22
Centering Diameter [mm] 79
Height [mm] 51,6
Minimum thickness [mm] 20,4
Number of Holes 5
Outer diameter [mm] 300
Wheel Bolt Bore @ [mm] 14,5
Vented
New applications
BMW 3 (E46) (02/98-12/07) BMW Z4 (E85) (02/03--)
BMW Z3 (E36/7, E36/8) (10/95-06/03)
Brake disc p<)  3835213011/PD
Notes
Front Axle
Bolt Hole Circle @ [mm] 120
Brake Disc Thickness [mm] 22
Centering Diameter [mm] 79
Height [mm] 51,6
Minimum thickness [mm] 20,4
Number of Holes 5
Outer diameter [mm)] 286
Wheel Bolt Bore @ [mm] 14,5
High-carbon
Vented
with screws

Zink flake coated

New applications

BMW 3 (E36) (09/90-08/00) BMW Z3 (E36/7, E36/8) (10/95-06/03)
BMW 3 (E46) (02/98-12/07) BMW 74 (E85) (02/03--)
Wulf Gaertner Autoparts AG - www.meyle.com 2

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]
Wheel Bolt Bore @ [mm]

New applications

BMW 3 (E46) (02/98-12/07)
BMW Z3 (E36/7, E36/8) (10/95-06/03)

Brake hose

Notes

Length [mm]

Outer thread 1 [mm]
Outer thread 2 [mm]
Required quantity
New references

FORD

New applications

FORD Fiesta IV / Puma (08/95-06/02)
FORD Scorpio | (04/85-12/94)

Wulf Gaertner Autoparts AG - www.meyle.com

Brakes

New applications for existing MEYLE parts

Front Axle
120

22

79

51,6

20,4

5

300

14,5
High-carbon
Vented

with screws
Zink flake coated

BMW 74 (E85) (02/03--)

345
M10x1
M10x1

6125634

FORD Sierra (08/82-03/93)

October 2016
Pd) 3835213020/PD

714 525 0014

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE v
New applications for existing MEYLE parts

October 2016

Brake pad set P 025219 4519-1/PD
Notes
Front Axle
Brake System TRW
Height [mm] 69,4
Number of wear indicators [per axle] 2
Quality PREMIUM
Thickness [mm] 19,6
Warning Contact Length [mm] 196
Width [mm] 118,9

New applications
AUDI A4 (8H7) (04/02-03/09)

incl. wear warning contact
with anti-squeak plate

Brake pad set 025 2194519/W
Notes
Front Axle
Brake System TRW
Height [mm] 69,4
Number of wear indicators [per axle] 2
Thickness [mm] 19,6
Warning Contact Length [mm] 196
Width [mm] 118,9

New applications
AUDI A4 (8H7) (04/02-03/09)

Wulf Gaertner Autoparts AG - www.meyle.com

incl. wear warning contact
with anti-squeak plate

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake pad set

Notes

Brake System

Height [mm]

Number of wear indicators [per axle]
Thickness [mm]

Warning Contact Length [mm]
Width [mm]

New applications
AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
Brake pad set

Notes

Brake System
Height [mm]
Thickness [mm]
Width [mm]

New applications

Front Axle

ATE

62,4

1

17,4

155

146,1

incl. wear warning contact
with anti-squeak plate

Front Axle

TRW

58,7

18,2

162,6

prepared for wear indicator
with anti-squeak plate

Brakes

New applications for existing MEYLE parts

October 2016
025 220 3517

0252419118

[, e 71
L

LAND ROVER Discovery Il (07/04-09/09)
LAND ROVER Discovery IV (09/09--)

LAND ROVER Range Rover Il (03/02-08/12)
LAND ROVER Range Rover Sport (02/05--)

Wulf Gaertner Autoparts AG - www.meyle.com 5

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake pad set

Notes

Brake System
Height [mm]
Thickness [mm]
Width [mm]

New references
CHEVROLET

GENERAL MOTORS

OPEL

New applications

CHEVROLET Aveo Il (03/11--)
CHEVROLET Trax (12/12--)
OPEL Cascada (03/13--)
OPEL Mokka (06/12--)

Wulf Gaertner Autoparts AG - www.meyle.com

Brakes

New applications for existing MEYLE parts
October 2016

025 2509616/W

Rear Axle
ATE
42,7
16,1 T =

116,6 ] )

with accessories
with acoustic wear warning
with anti-squeak plate

13411380
13411383
13473427
13473428
16 05 294
16 05 296

VAUXHALL Astra Mk V (01/04-11/11)
VAUXHALL Cascada (02/13--)
VAUXHALL Mokka (06/12--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE
New applications for existing MEYLE parts

October 2016

Sensor, camshaft position 314 899 0069
Notes
Cable Length [mm] 355
Fitting Depth [mm] 28
Number of Poles 3
Operating voltage [V] 12

Active sensor

with seal
New applications
LAND ROVER Discovery Il (07/04-09/09) LAND ROVER Discovery IV (09/09--)
Wulf Gaertner Autoparts AG - www.meyle.com 7

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

Engine/Cooling/Clutch

New applications for existing MEYLE parts

MEYLE

October 2016

Air filter 112321 0031
Notes
Height [mm] 30,5
Length [mm] 270
Width [mm] 190
Filter Insert
New applications
AUDI A1 (8X1, 8XA) (05/10--)
Oil filter 100 322 0021
Notes
Bypass Valve Opening Pressure [bar] 2,5
Height [mm] 78
Outer diameter [mm)] 77
Thread Size 3/4"-16 UNF-1B
Screw-on Filter
with one anti-return valve
New applications

AUDI A1 (8X1, 8XA) (05/10--)

Oil filter 16-14 322 0000
Notes
Bypass Valve Opening Pressure [bar] 1
Height [mm] 50,6
Outer diameter [mm] 76
Thread Size M20x1,5
Screw-on Filter
New applications

ALFA ROMEO 147 (11/00-03/10)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE
New applications for existing MEYLE parts

October 2016
Ball joint 316 0100011
Notes @
Front Axle Left
Front Axle Right
Thread Size M14x1,5

with accessories

New applications
BMW X3 (E83) (01/04-12/08)

Control arm 416 050 0000

Notes

Left

Right

Aluminium

Control Arm

not adjustable

with ball joint

with rubber mounting

New applications
PORSCHE Boxster (987) (11/04-12/11)

Shock absorber 28-26 725 0002
Notes
Rear Axle
Bottom eye
Gas Pressure
Top pin
Twin-Tube
New applications
KIA Picanto Il (05/11--)
Wulf Gaertner Autoparts AG - www.meyle.com 9

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

New applications
VW Spacefox (526, 527)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

New applications

Suspension

New applications for existing MEYLE parts
October 2016

116 060 0000/HD

Reinforced Version

Front Axle Left &

Front Axle Right A ;

270 @ — ﬂ

M10x1,5 :
=

M10x1,5 w
Coupling Rod
with spanner attachment

116 060 0020/HD

Reinforced Version

Front Axle Left
Front Axle Right =5
335 G— —
M12X1,5

@.
M12X1,5
Coupling Rod

with spanner attachment

VW Jetta City (09/06-12/09)

Wulf Gaertner Autoparts AG - www.meyle.com 10

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Reinforced Version
Rear Axle Left

Inner diameter 1 [mm] 12

Length [mm] 200

Paired article numbers 116 060 0022/HD
Thread Measurement 1 M12x1,5

New applications
AUDI Q7 (4M) (06/15--)

Suspension Rod
with accessories
with spanner attachment

Stabilizer link
Notes
Reinforced Version
Rear Axle Right
Length [mm] 250
Paired article numbers 116 060 0021/HD
Thread Measurement 1 M12X1,5

New applications
AUDI Q7 (4M) (06/15-)

Suspension Rod
with accessories
with spanner attachment

Suspension

New applications for existing MEYLE parts

October 2016

116 060 0021/HD

Stabilizer link 116 060 0023
Notes

Rear Axle Left

Rear Axle Right
Inner diameter [mm] 10
Length [mm] 95
Thread Measurement 1 M10x1,5

Coupling Rod

-

New applications
VW Passat (A32) (04/11-12/14)
Wulf Gaertner Autoparts AG - www.meyle.com 1

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Stabilizer link

Notes

Inner diameter [mm]
Length [mm]

Thread Measurement 1
Thread Measurement 2

New applications

VW Passat (A32) (04/11-12/14)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

New applications
VW Routan (09/08-12/11)

Wulf Gaertner Autoparts AG - www.meyle.com

Rear Axle Left
Rear Axle Right
10

95

M10x1,5
M10x1,5
Coupling Rod
Kit

with accessories

Reinforced Version
Replace in pairs only
Front Axle Left

Front Axle Right

310

M12X1,5

M12X1,5

Coupling Rod

with spanner attachment

Suspension

New applications for existing MEYLE parts

October 2016
116 060 0023/S

(A0) 44-16 060 0000/HD

POIESCINE |

12

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Strut mount

Notes

Rear Axle

Round

without ball bearing
New applications

AUDI A1 (8X1, 8XA) (05/10--)

AUDI A3 (8P1, 8PA) (05/03-08/12)

AUDI Q3 (8U) (06/11--)

AUDI TT (8J3, 8J9) (08/06-06/10)

SEAT Alhambra Il (710) (06/10-05/11)

SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)
SKODA Octavia Il (1Z_) (02/04-12/10)

SKODA Superb 11 (3T) (03/08-11/10)

SKODA Yeti (5L) (05/09--)

Sway bar
Notes

Front Axle
Stabiliser Diameter [mm] 21,7

with clamps

with rubber mounting

New applications
SKODA Octavia Il (1Z_) (02/04-12/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Suspension

New applications for existing MEYLE parts
October 2016

100513 0010

VW CC(11/11--)

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)
VW Jetta IV (162) (04/10--)

VW Passat (362, 365) (08/10--)

VW Passat (3C_) (03/05-10/11)

VW Scirocco (137) (05/08-05/11)

VW Tiguan (09/07-08/09)

VW Touran (1T3) (05/10-01/13)

100 653 0009/HD

?-\_‘
MEYTEY
& e o

13

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

